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Q.1 Amongst the following words, which will
appear fourth in the dictionary?

fFoafafea & ¥ o9 91 U<, ISP &
HUTIIR AN YT TR AT

A) KNOW  B) KNACK
C) KNIT D) KNOB
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Q.2 In a certain code language, "MOTHER" Is written
as "NPUGDQ". How Is "ORANGE" written in that code

language ?
o fafl¥Ip &I YT § "MOTHER" &t "NPUGDQ" ferar
SITdT 8| $9 BIs HTWT § "ORANGE" &l foq -

ST

A) PSBMDF  B) PSBMFD
C)PBSMFD D) PSBDMF
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Q.3 Five girls E, F, G, H and | are standing in a row. H
IS on the right of G. | Is on the left of G, but is on the
right of F. H is on the left of E. Who Is standing on the

extreme right?

U ASfPUTE, F, G, H3MR ITH UM A WSIGIH, G &
gt SR &1 1, G & IRit 3R 7, foog F & ardf &R 1 H, E

& 9T 3R 31 31U BR W $IH W1 8 N

A) F B) G
C)H D)E



Q.4 How many triangles are there in the
figure given below?

A)12 B)22
C)20 D)?24



Q5f4-3-2=24and 6-1-2 =12,
then5-4—-1="7?
gfd4-3-2=24qUT6-1-2 = 12'5:‘ra‘r
5—4—1="7 176N

D) 9
D) 20




Q.6 fqxr: &t 713 Y@a B QR
Grd

Directions: Complete the
given series.

— abbcc — bcca = c«

baa - bcc. SSE

A) aabba B) ababa
C) ababb D) aabcc




Q.7 Select the odd
word/letters/number/number pair from the

given alternatives

feu U faeeul | I fauH g / 3feR / =T/
=T g Pl gAY

A)862  B)835
C) 439 D) 147
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Q.8 From the given answer figures, select the
one in which the question figure is
hidden/embedded
ﬁwmﬁﬁwwmﬁ
g o uy spfa fAfga g

Question figure :
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Answer figure :




Q.9 A man showed a boy next to him and said -
"He is the son of my wife’s sister-in-law, but |
am the only child of my parents." How is my
son related to him ?

U AR 3 30 | 3R TH asd P! faamn 3R
g1 {5 “ag At Ut ot uneh &1 g %ﬁﬁﬁ
amﬁnmﬁmﬁmmwgwﬁ%zﬁf
U HT HAGY gRIT? -

A) TERTAERT ?-I'I's:/Cousin B) ‘l-l'l'sc/Brother
C) I I/Uncle D) HdISI/Nephew



Q.10 X walked 35 metres towards South, then turned left and
walked 25 metres, and again turned left and walked for 35 metres.
He then turned to his right and walked 20 metres. At what distance
and direction from the starting point is X now standing?

X, Gferor fa=m & 35 Hiex 9@ & q1g 914 GeHR 25 Wiex Fadl g1 3R
fihy 9 919 ge&x 35 Hiex Iddl g1 by, a8 3= 318 gs&< 20 Hiex
T 8, <t 3F 98 URITH-RIT | fha-l g¥ 3R fore fa=n o war 32

1) A) 20 HY. TfgH/20 m West
| B) 45 Y. d/45 m East
C) 20 Ht. 1}3f/20 m East

D) 45 HY. 3¥R/45 m North

/§ L5 F - S RiBmag £t SRR
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Q.11 Find the missing number In
the given series.

&t 18 4oft § qua w=n 3ra I
6,12, 21, ?, 48 ?

5 ) 40
C)45 D)33




Q.12 Y-/ Statements:

'H‘l-ﬁﬂts'%ﬁts'%]lAll roads are trees.

ﬂﬁ'sc ﬁ-ﬁﬁgwqﬁ%VNo tree is soap.
fssd:/ conclusions:

. Hﬁﬁ mwwqﬁ%VNo soap is road.
1. Wﬁgm%]/Some trees are roads.

1. Hﬁﬁ ﬁ-ﬁm'ﬂ@:{qﬁ%VNo road is soap.

A) Only | B) Only II
C) Only Il D) All follow
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Q.13 Statement: /[PYd

Death keeps no calendar. WW@%WH@TW%I ,
Conclusions: /ﬁ'ﬁlﬂﬂf \
|. Everyone has to die one day. /\‘[ﬁﬂﬁ@ﬁ‘-—lﬂ‘ﬂ%l Y.
Il. Death i1s a remedy for all ills. /HdY gt St @1
STl g |
A) if only conclusion (l) follows rafe dad HU | ST
HRAl g |
B) if only conclusion (Il) follows [afe dad HYT |l
SR HaT g
(%3) if either (1) or (I) follows/af¢ AT &t | AT Il SR Il

I
D) if neither (1) nor (I1) follows/Afe T &t | 7 &1 I

3T HT g |

/§ L5 F - S RiBmag £t SRR
RIS/ i R : ¥ fﬂ ! . (,;}~ 2\ o



Q.14 If + means ~, X means +, — means X and +
means —, then what is the value of 46 + 24 + 4 x
8 —3=7

3R '+ BT HAAT ' + ' §, 'x' BT HIAS '+ % BT
Hdad 'x' @, ' + T T - g, 46+
-3$TterHTUTauTaTrrf>

A)60 B)61
C)62 D) 64
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Q.15 Identify the diagram that correctly
represents the relationship among Blue eyed
persons, Females and Doctors.

dg 3RW gfT St et siral ara safaal, eoa
aﬁ?@ﬁiﬁ%aﬂawumwwm%




Q.16 DIRECTIONS: Which of the following
figure Is the correct mirror image of the

given figure
fgar: faweul | & 18 o [ E‘PrTré S

TP A BT o [l \
| =iy )
{ |

\\f"/‘\ LLy /
PR S

Answer figure:

(A) (D)

(B) (C)



Q.17 If 264 * 2 = 6, 870 * 3 = 11,
then 735*5 =7

*5=7

A)05 B)12
C)16 D) 03




Q.18 Mrs. Susheela celebrated her wedding
anniversary on Tuesday, 30th September, 1997.
When will she celebrate her next wedding
anniversary on the same day?

fiadt JRAEr (U=t AT $t FalRRe 30 Ryawar,
1997ﬁﬂﬂwaﬁﬂ?l?ﬁ%?ﬁa‘s'am?ﬁmarq=ﬁ
wﬁwmwwﬁqwmﬁ -

i ! j
4

A) 2004  B) 2000
C) 2003 D) 2002

/§ L5 F - S RiBmag £t SRR
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Q.19 what comes In
place of ? e

uYqrae g & WME

A)5 B)6
C)8 D)9

/ " ‘ :if. { ‘ ._'::‘ e |
/§ L5 F - S RiBmag 5 SRS
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Q.20 DIRECTIONS: Choose the correct alternative
from the given ones that will complete the series

fAgar: feu Y faweul & & S gfAw &
URT BT :

MNBA, OPDC, QRFE, ?

A) STGH B)STKH
C) STKJ D) S
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Q.21 Amit is 15" from the front in a column of boys .
There are thrice as many behind him as there are in front .
How many Boys are there between Amit and seventh boy

from the end of the column ?
aﬁ%wmﬁa&mmﬁﬁw&ww%lﬁmﬁ
I @ %lw%am@rar&maﬁ?

itrra%asa?a?é’ﬁr dsh 82

A. 30
B. 32
C.35
D. C.N.D.
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Q.22 Akshay is 16" from the left end in a row of boys and Vijay is
18t from the right end . Avinash is 11" from the Akshay Towards the

right end and 3" from Vijay towards the right end . How many boys
are there in the row ?

e asas‘raﬁ it & 918 B | 163 VM R & 2R e/ il oR
@r wmw%wrﬁqm e A A BR DY 3R 11497 3R fAsa
an?r Y 3R TRT 21 UFHT & fpes wed 22

A.Data in adequate
B. 42
C. 40
D. 41
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Q.23 Hitesh is 27t from the left end of a row of 49
boys and Maneesh is 271" from the right end in the
same row. How many Boys are there between them
In the row ?

49 TS| F TP Ufed P a1 B A fRaw 273 =
w%aﬁ?wﬁﬁmaﬁwﬁﬂa‘mw%l
ufed ® 3% oI fbd ded 27

A.6
B.3
C.5
D. Data inadequate



Q.24 which answer figure can be formed by
folding the figure given in the question?
ﬁq;ﬁw

H Bl HisH
%ﬁﬁ%%'




Q.25 which answer figure can be formed by folding the figure
given in the question?

%aﬁﬁﬂ%&ﬂ?ﬁaﬁmwﬁqmwmmmm

([ 25 0)
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